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1. The value of  is- 

(a)   (b)   (c)

2. The value of  is (where {x} denotes the 

fractional part of x) 

(a)    (b)   

(c)    (d)

3. Let  =  for at least 3 values 

of x and f(x) is a differentiable function satisfying f(xy) = f(x) 

+ x2(y2-1)+y- 1,   x, y  R and f(1) = 3, then

dx is equal to - 

(a) 10  (b) 20  \ 

(c) 25  (d) 35 

 

4. The value of  is 

(a)  +     

(b) -  

(c) +     

(d) -  

5. If (x) =  then 

(a)    (b) -  

 (c)    (d) None of these

6. If  log sin x dx = k, then log (1 + cos x) dx is given 

by 

(a)  log 2 + 4k        (b)  log 2 + 2k

(c)  log 2 + k        (d)  log 9 + k
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(c)  (d)  

is (where {x} denotes the 

  

 

for at least 3 values 

of x and f(x) is a differentiable function satisfying f(xy) = f(x) 

R and f(1) = 3, then 

  

dx is 

  

(d) None of these 

log (1 + cos x) dx is given 

log 2 + 2k 

log 9 + k2 

7. The value of (sin  x) 

fractional part of x) 

(a)   

 (c)   

8. Let I1 = dx, I2 = 

I3 = dx, then 

(a) I1< I2< I3        

(c) I3< I1< I2        

9. If I = , then I equals

(a) + log ( -1)  

(b) -log ( -1) 

(c) log (  + 1) +  

(d)  + log (3 - ) 

10. If I = 

(a) (2 - -1)  

(b) (2 + -1) 

(c)  (2 - +1)  

(d) None of these 

11. If I = dx, the I equals

(a) 1 +    

(c)   

12. If I = 

(a)   (b)

(c)   (d)

13. If I = 

(a) -4     (b) -3    
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dx is (where {x} denotes the 

  (b)   

  (d)  

dx,  

 

    (b) I2< I1< I3 

    (d) I3< I2< I1 

, then I equals 

     

     

, then I equals- 

    

    

dx, the I equals- 

 (b) 1 -     

 (d)  -  

, then I equals: 

    

 

, then I equals: 

  (c) -2     (d) -1 
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14. If I = 

equals 

(a) 7 cos (1/2)    

(b) 7 [cos (1/2) - sin (1/2)] 

(c) 0     

(d) None of these 

15. If I = , then I equals 

(a) 2    (b) 2/e   (c) 2( 1 - 1/e)   

16. If for k  N, = 2[cos x + cos 3x +......+ cos (2k 

then value of I = is 

(a) -/2     (b) 0     (c) /2  

17. If b > a, and I = dx, then I equals 

(a) (b - a)   (b)  (b - a)

 (c) /2   (d) 2 (b - a)

18. dx equals: 

(a) |a| - |b|   (b) |b| - |a|   (c) ||a| - |b|| 

19. dx equals: 

(a) 1     (b) 2     (c) ½   

20. If /2 << 3/2, then is equal to 

(a)   (b)   

(c)   (d) None of these 

21. , where | | is modulus and [ 

integer function is 

(a) 0     (b) 25    (c) 50    

22. equals- 

(a) 2      (b) 1/4   (c) 3/4   

23. equals: 

(a) -2      (b) 0    (c) 1   
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 sin dx, then I 

   

   

  (d) 0 

= 2[cos x + cos 3x +......+ cos (2k -1) x], 

    (d)   

 

a)  

a) 

   (d) |b - a| 

    (d) 0 

is equal to - 

  

, where | | is modulus and [ ] is greatest 

   (d) 100 

   (d) 3/2 

   (d) -1 

24. If g(x) = , then g(x + 

(a)g(x) + g()  (b) g(x) - 

25. Let F(x) = , x > 0.  If 

one of the possible value  of k is:

(a) 2     (b) 4    
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, then g(x + ) equals- 

 g()  (c) g(x) . g()  (d) 0 

, x > 0.  If = f(k) - f(1) then 

one of the possible value  of k is: 

  (c) 8     (d) 16 
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